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MUTREFHASH, MEERE: () (@EEF—m)

public static void main(String[] args) {
Scanner scanner = new Scanner(System.in);

Z=: RIS
int k = scanner.nextInt(); ERER: B RNER: B

switch (k) { SEfET:
case 1: AAEEswitchgEi, MA3E, SiTcase3fit ASHES(ERKELELERN4, RELRIET, HiTcasedimtiAGHIEAS, (B
System.out.print(" "+k++); EKELZTS, HiTbreakiEtl, HREFIEIT, BUSTERN
case 2: 3 4, BIEINIEH,
System.out.print(" "+k++);
case 3:
System.out.print("” "+k++);
case 4:
System.out.print(" "+k++); A 23
break;
default:

System.out.println("FULL!");
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